1

AHLFERE

LHDHNEICEHT SEIE (B M)
Z W H _Fh Al
BROSa=TA4TSHERER WERMEFAZ2=T4T5H Y& - 1% 7%
B =
BfIIa=T4 ISHR. B, HIREERES
TEEHEEE A Wk EF O RO | AfLEXIFEHEHHE
BEREREHR £ EFER EaFBHEANL ZHnH SF4£E3831H SFI3E3/825H
F E l4E (Fiik) ZEALEEE (Fiik) ZHEE ()
2,410,000 1,800,000 1,980,000
ZHDHEFA = A
B ZE5CT—ILK ZERIVERTERETEHHFHES15-1
i =
AR RUZHDBIECBEHT HEIE (B M)
AFLEDEFR F1E AL | F2EALLMEE | FE3EALLMEE iE %
WI+—s0—nN— FREVEHEXIE 2,450,000
FVFRER 2,400,000
B®B—RF=F R
MERBREY—EX 2,730,000
H)—oH—ERELE) 2,620,000
EXEHRZER 2,380,000
®O)—TvoFaF 2,490,000
BEEZER) 2,400,000
BT—ILEDY—> WNEREERT 2,210,000
WHZ5CT—ILF 1,800,000 EAL
MRSUR RBEER 2,700,000




